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Consider a non-dividend-paying stock with the intial price of $100. Assume that the continu-

ously compounded risk-free interest rate equals 0.05.
There is an at-the-money European put option on the above stock with exercise date in 2

years. This option is currently traded at $11.54.
A compound call on the above put option is issued. Its exercise date is one year from
today and its strike is 6. The price of this compound call is $7.18. EETr
What is the value of a compound put option on the above vanilla option?
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Forward  binomial tree :
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5.  Consider a9-month gcﬁlar-denominated‘ American put option on Eritish pounds.
You are given that: .\ T= > .i F < . “)
= -C". = {a nd Q,q—qaa,ﬁg
(i) The current exchange rate is 1.43 US dollars per pound. R & (o) = 4. L"B
(ii) The strike price of the put is 1.56 US dollars per pound. K =4 56

(iii) The volatility of the exchange rate isjo=0.3

(iv) The US dollar continuously compounded risk-free interest rate is 8%. rb'-'- 0.0%
(v) The British pound continuously compounded risk-free interest rate is 9%. VF =0.09

Using a three-period binomial model, calculate the price of the put.
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Which tree? Tha  default is FORWARD K=i15¢ -
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